SOME IDENTITIES OF THE DEGENERATE BERNOULLI POLYNOMIALS OF THE SECOND KIND ARISING FROM λ -SHEFFER SEQUENCES

JIN-WOO PARK¹, BYUNG MOON KIM², AND JONGKYUM KWON³

ABSTRACT. Korobov introduced the first degenerate version of the Bernoulli polynomials of the second kind called Bernoulli polynomials of the second kind. Recently, degenerate versions of such polynomials as Bernoulli polynomials, Euler polynomials and Genocchi polynomials and so on were introduced by the many researchers. The aim of this paper is to represent the degenerate Bernoulli polynomials of the second kind by other polynomials using the λ -umbral calculus.

1. Introduction

The ordinary Bernoulli polynomials are defined by the generating function to be

$$\sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} = \frac{t}{e^t - 1} e^{xt}, \text{ (see [6, 19])}.$$
(1.1)

In the special case, x = 0, $b_n(0) = b_n$ are called the Bernoulli numbers.

For any nonzero real number $\lambda \in \mathbb{R}$, the degenerate exponential function is defined by

$$e_{\lambda}^{x}(t) = (1 + \lambda t)^{\frac{x}{\lambda}}, \ e_{\lambda}(t) = (1 + \lambda t)^{\frac{1}{\lambda}}, \ (\text{see } [4, 7, 12, 10]).$$
 (1.2)

Let $\log_{\lambda}(t)$ be the compositional inverse function of $e_{\lambda}(t)$ satisfying $\log_{\lambda}(e_{\lambda}(t)) = t$. Then we have

$$\log_{\lambda}(1+t) = \sum_{n=1}^{\infty} \lambda^{n-1}(1)_{n,\frac{1}{\lambda}} \frac{t^n}{n!}, \text{ (see [4, 7, 12])}, \tag{1.3}$$

where $(x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$.

By using (1.2), the higher-order degenerate Bernoulli polynomials are defined as follows:

$$\sum_{n=0}^{\infty} B_{n,\lambda}^{(r)}(x) \frac{t^n}{n!} = \left(\frac{t}{e_{\lambda}(t) - 1}\right)^r e_{\lambda}^x(t), \text{ (see [18])}.$$
 (1.4)

When x = 0, $B_{n,\lambda}^{(r)}(0) = B_{n,\lambda}^{(r)}$ are called the higher-order degenerate Bernoulli numbers. In addition, when r = 1, we denote $B_{n,\lambda}^{(1)}(x) = B_{n,\lambda}(x)$.

²⁰¹⁰ Mathematics Subject Classification. 33E20, 05A30, 11B83, 11S80.

Key words and phrases, the degenerate Bernoulli polynomials of the second kind, umbral calculus, λ -Sheffer sequences.

The higher order Bernoulli polynomials of the second kind are defined by the generating function to be

$$\sum_{n=0}^{\infty} b_n^{(r)}(x) \frac{t^n}{n!} = \left(\frac{t}{\log(1+t)}\right)^r (1+t)^x, \text{ (see [3, 4])}.$$
 (1.5)

When x = 0, $b_n^{(r)}(0) = b_n^{(r)}$ are called the higher order Bernoulli numbers of the second kind. In addition, when r = 1, $b_n^{(1)}(x) = b_n(x)$ are called the Bernoulli polynomials of the second kind.

For $n \geq 0$, the Stirling numbers of the first kind $S_1(n,k)$ and Stirling numbers of the second kind $S_2(n,k)$, respectively, are given by

$$(x)_n = \sum_{k=0}^n S_1(n,k)x^k$$
 and $x^n = \sum_{k=0}^n S_2(n,k)(x)_k$, (see [1-19]), (1.6)

where $(x)_0 = 1$, $(x)_n = x(x-1)\cdots(x-n+1)$, $(n \ge 1)$ is the falling factorial sequence.

For each positive integer k, it is well known (see [8]) that

$$\frac{1}{k!} (\log(1+t))^k = \sum_{n=k}^{\infty} S_1(n,k) \frac{t^n}{n!}, \text{ and } \frac{1}{k!} (e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n,k) \frac{t^n}{n!}.$$
 (1.7)

As degenerate version of the Stirling numbers of the first and second kind in (1.6), the degenerate Stirling numbers of the first kind $S_{1,\lambda}(n,k)$ and the degenerate Stirling numbers of the second kind $S_{2,\lambda}(n,k)$ are respectively introduced by Kim-Kim (see [6, 8]) as follows:

$$\frac{1}{k!} (\log_{\lambda} (1+t))^k = \sum_{n=k}^{\infty} S_{1,\lambda}(n,k) \frac{t^n}{n!} \text{ and } \frac{1}{k!} (e_{\lambda}(t) - 1)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n,k) \frac{t^n}{n!}.$$
 (1.8)

It was Gian-Carlo Rota who started to make a completely rigorous foundation for umbral calculus in the 1970s (see[18]). The umbral calculus is based on linear functionals, linear operators, and differential operators. Recently, Kim-Kim introduced degenerate Sheffer sequences and λ -Sheffer sequences. They defined the λ -linear functionals, λ -linear operators and λ -differential operators instead of the linear functionals, linear operator and differential operators used by Rota.

Carlitz introduced degenerate Stirling, Bernoulli and Eulerian numbers in 1979 (see [1]). Korobov introduced the first degenerate version of the Bernoulli polynomials of the second kind called Korobov polynomials of the first kind (see [15]). Recently, degenerate versions of such polynomials as Bernoulli polynomials, Euler polynomials and Genocchi polynomials and so on were introduced by the many researchers (see [2-21]). The aim of this paper is to represent the degenerate Bernoulli polynomials of the second kind by other polynomials using the λ -umbral calculus.

Let \mathbb{C} be the field of complex numbers,

$$\mathcal{F} = \left\{ f(t) = \sum_{n=0}^{\infty} a_k \frac{t^n}{n!} \middle| a_k \in \mathbb{C} \right\},\,$$

and let

$$\mathbb{P} = \mathbb{C}[x] = \left\{ \sum_{k=0}^{\infty} a_l x^k \middle| a_k \in \mathbb{C} \text{ with } a_k = 0 \text{ for all but finite number of } k \right\}.$$

Let \mathbb{P}^* be the vector space of all linear functionals on \mathbb{P} .

Then each $\lambda \in \mathbb{R}$ gives rise to the linear functional $\langle f(t)|\cdot \rangle_{\lambda}$ on \mathbb{P} , called λ -linear functional given by f(t), which is defined by

$$\left\langle f(t) \middle| (x)_{n,\lambda} \right\rangle_{\lambda} = a_n, (n \ge 0),$$
 (1.9)

and by linear extension (see [7]). From (1.9), we have

$$\left\langle t^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} = n! \delta_{n,k}, (n,k \ge 0),$$
 (1.10)

where $\delta_{n,k}$ is Kronecker's symbol.

For each $\lambda \in \mathbb{R}$ and each $k \in \mathbb{N}$, Kim-Kim defined the differential operator on \mathbb{P} in [7] by

$$(t^k)_{\lambda}(x)_{n,\lambda} = \begin{cases} (n)_k(x)_{n-k,\lambda}, & if \ k \le n, \\ 0, & if \ k \ge n, \end{cases}$$

and for any $f(t) = \sum_{k=0}^{\infty} a_k \frac{t^k}{k!} \in \mathcal{F}$,

$$(f(t))_{\lambda}(x)_{n,\lambda} = \sum_{k=0}^{n} \binom{n}{k} a_k(x)_{n-k,\lambda}.$$
(1.11)

In addition, they showed that for $f(t), g(t) \in \mathcal{F}$, and $p(x) \in \mathbb{P}$.

$$\left\langle f(t)g(t) \middle| p(x) \right\rangle_{\lambda} = \left\langle g(t) \middle| (f(t))_{\lambda} p(x) \right\rangle_{\lambda} = \left\langle f(t) \middle| (g(t))_{\lambda} p(x) \right\rangle_{\lambda}.$$
 (1.12)

The order o(f(t)) of $f(t) \in \mathcal{F} - \{0\}$ is the smallest integer k for which the coefficient of t^k does not vanish. If o(f(t)) = 0, then f(t) is called invertible and such series has a multiplicative inverse $\frac{1}{f(t)}$ of f(t). If o(f(t)) = 1, then f(t) is called delta series and it has a compositional inverse $\bar{f}(t)$ of f(t) with $\bar{f}(f(t)) = f(\bar{f}(t)) = t$.

Let f(t) be a delta series and let g(t) be an invertible series. Then there exists a unique sequence $S_{n,\lambda}(x)$ (deg $S_{n,\lambda}(x)=n$) of polynomials satisfying the orthogonality conditions

$$\left\langle g(t)(f(t))^k \mid S_{n,\lambda}(x) \right\rangle_{\lambda} = n! \delta_{n,k}, \quad (n,k \ge 0), \quad (\text{see [7]}).$$
 (1.13)

Here $S_{n,\lambda}(x)$ is called the λ -Sheffer sequence for (g(t), f(t)), which is denoted by $S_{n,\lambda}(x) \sim (g(t), f(t))_{\lambda}$. The sequence $S_{n,\lambda}(x)$ is the λ -Sheffer sequence for (g(t), f(t)) if and only if

$$\frac{1}{g(\overline{f}(t))}e_{\lambda}^{y}(\overline{f}(t)) = \sum_{n=0}^{\infty} S_{n,\lambda}(y)\frac{t^{n}}{n!}, \quad (\text{see [7]}), \tag{1.14}$$

for all $y \in \mathbb{C}$, where $\overline{f}(t)$ is the compositional inverse of f(t) such that $f(\overline{f}(t)) = \overline{f}(f(t)) = t$.

For $S_{n,\lambda}(x) \sim (g(t), f(t))_{\lambda}$, $r_{n,\lambda}(x) \sim (h(t), l(t))_{\lambda}$, we have

$$S_{n,\lambda}(x) = \sum_{k=0}^{n} C_{n,k} r_{k,\lambda}(x), \quad (n \ge 0),$$

where

$$C_{n,k} = \frac{1}{k!} \left\langle \frac{h(\overline{f}(t))}{g(\overline{f}(t))} \left(l(\overline{f}(t)) \right)^k \mid (x)_{n,\lambda} \right\rangle_{\lambda}, \quad (\text{see [7]}). \tag{1.15}$$

Let $S_{n,\lambda}(x) \sim (g(t), f(t))_{\lambda}$ and let $h(x) = \sum_{l=0}^{n} a_l S_{l,\lambda}(x) \in \mathbb{P}$. Then by (1.13), we have

$$\left\langle g(t) \left(f(t) \right)^{k} \middle| h(x) \right\rangle_{\lambda} = \sum_{l=0}^{n} a_{l} \left\langle g(t) \left(f(t) \right)^{k} \middle| S_{l,\lambda}(x) \right\rangle_{\lambda}$$
$$= k! a_{k},$$

and thus we know that

$$a_k = \frac{1}{k!} \left\langle g(t) \left(f(t) \right)^k \middle| h(x) \right\rangle_{\lambda}. \tag{1.16}$$

Let $(x)_n = \sum_{k=0}^n c_{n,k}(x)_{k,\lambda}$. Since

$$(x)_n \sim (1, e_{\lambda}(t) - 1)_{\lambda}$$
 and $(x)_{n,\lambda} \sim (1, t)_{\lambda}$,

by (1.15), we get

$$c_{n,k} = \frac{1}{k!} \left\langle \left(\log_{\lambda} (1+t) \right)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} = \sum_{l=k}^{\infty} S_{1,\lambda}(l,k) \frac{1}{l!} \left\langle t^{l} \middle| (x)_{n,\lambda} \right\rangle_{\lambda}$$
$$= S_{1,\lambda}(n,k),$$

and thus, we know that

$$(x)_n = \sum_{k=0}^n S_{1,\lambda}(n,k)(x)_{k,\lambda}.$$
 (1.17)

In the similar way, we also know that

$$(x)_{n,\lambda} = \sum_{k=0}^{n} S_{2,\lambda}(n,k)(x)_{k}.$$

2. The degenerate Bernoulli polynomials of the second kind arising from λ -Sheffer sequences

In this section, we find some relationships between Bernoulli polynomials of the second kind and some special polynomials arising from λ -Sheffer sequences.

The higher-order degenerate Bernoulli polynomials of the second kind are defined as follows:

$$\left(\frac{t}{\log_{\lambda}(1+t)}\right)^{r} e_{\lambda}^{x} \left(\log_{\lambda}(1+t)\right) = \sum_{n=0}^{\infty} b_{n,\lambda}^{(r)}(x) \frac{t^{n}}{n!}, \text{ (see [3, 4, 13])}.$$
 (2.1)

When x = 0, $b_{n,\lambda}^{(r)}(0) = b_{n,\lambda}^{(r)}$ are called higher-order degenerate Bernoulli numbers of the second kind. In the special case r = 1, $b_{n,\lambda}^{(1)}(x) = b_{n,\lambda}(x)$ are called the Bernoulli polynomials of the second kind. Note tat if $\lambda \to 0$, then $\lim_{\lambda \to 0} b_{n,\lambda}^{(r)}(x) = b_n^{(r)}(x)$.

Theorem 2.1. For each nonnegative integer n, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\sum_{m=0}^{n} \binom{n}{m} S_{1,\lambda}(n-m,k) b_{m,\lambda} \right) (x)_{k,\lambda}$$
$$= b_{n,\lambda} + \sum_{k=1}^{n} \frac{n S_{1,\lambda}(n-1,k-1)}{k} (x)_{k,\lambda}.$$
 (2.2)

As the inversion formula of (2.2), we have

$$(x)_{n,\lambda} = \sum_{k=0}^{n} \left(\sum_{l=k}^{n} \binom{n}{l} B_{n-l,\lambda} S_{2,\lambda}(l,k) \right) b_{k,\lambda}(x).$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^{n} c_{n,k}(x)_{k,\lambda}$. Since

$$b_{n,\lambda}(x) \sim \left(\frac{t}{e_{\lambda}(t) - 1}, e_{\lambda}(t) - 1\right)_{\lambda}$$
 and $(x)_{n,\lambda} \sim (1, t)_{\lambda}$,

by (1.15), we get

$$c_{n,0} = \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| (x)_{n,\lambda} \right\rangle = b_{n,\lambda},$$

and each k > 1,

$$\begin{split} c_{n,k} &= \frac{1}{k!} \left\langle \left(\frac{t}{\log_{\lambda} (1+t)} \right) (\log_{\lambda} (1+t))^{k} \middle| (x)_{n,k} \right\rangle_{\lambda} \\ &= \frac{1}{k} \left\langle t \frac{1}{(k-1)!} (\log_{\lambda} (1+t))^{k-1} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{k} \sum_{l=k-1}^{\infty} S_{1,\lambda} (l,k-1) \frac{1}{l!} \left\langle t^{l+1} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{n}{k} S_{1,\lambda} (n-1,k-1). \end{split}$$

In the other way.

$$c_{n,k} = \frac{1}{k!} \left\langle \left(\frac{t}{\log_{\lambda} (1+t)} \right) (\log_{\lambda} (1+t))^{k} \middle| (x)_{n,k} \right\rangle_{\lambda}$$

$$= \left\langle \frac{1}{k!} (\log_{\lambda} (1+t))^{k} \middle| \left(\frac{t}{\log_{\lambda} (1+t)} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} b_{m,\lambda} \binom{n}{m} \left\langle \sum_{l=k}^{\infty} S_{1,\lambda} (l,k) \frac{t^{l}}{l!} \middle| (x)_{n-m,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \binom{n}{m} S_{1,\lambda} (n-m,k) b_{m,\lambda}.$$

Therefore, we proved the equation (2.2). Conversely, we assume that $(x)_{n,\lambda} = \sum_{k=0}^{n} d_{n,k} b_{k,\lambda}$. Then

$$\begin{split} d_{n,k} &= \frac{1}{k!} \left\langle \frac{t}{e_{\lambda}(t) - 1} \left(e_{\lambda}(t) - 1 \right)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \left\langle \frac{t}{e_{\lambda}(t) - 1} \middle| \left(\frac{1}{k!} \left(e_{\lambda}(t) - 1 \right)^{k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=k}^{n} \binom{n}{l} S_{2,\lambda}(l,k) \left\langle \sum_{m=0}^{\infty} B_{m,\lambda} \frac{t^{m}}{m!} \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=k}^{n} \binom{n}{l} S_{2,\lambda}(l,k) B_{n-l,\lambda}. \end{split}$$

Thus, our proof is completed.

Theorem 2.2. For each $n \geq 0$, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\sum_{l=k}^{n} \binom{n}{l} S_{1,\lambda}(l,k) b_{n-l,\lambda}^{(2)} \right) B_{k,\lambda}(x).$$
 (2.3)

As the inversion formula of (2.3), we have

$$B_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\sum_{l=k}^{n} \binom{n}{l} S_{2,\lambda}(l,k) B_{n-l,\lambda}^{(2)} \right) b_{k,\lambda}(x).$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^{n} c_{n,k} B_{n,\lambda}(x)$. Note that

$$B_{n,\lambda}(x) \sim \left(\frac{e_{\lambda}(t) - 1}{t}, t\right)_{\lambda}$$

By (1.15), we get

$$\begin{split} c_{n,k} &= \frac{1}{k!} \left\langle \frac{\frac{t}{\log_{\lambda}(1+t)}}{\frac{\log_{\lambda}(1+t)}{t}} \left(\log_{\lambda}(1+t) \right)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \left\langle \left(\frac{t}{\log_{\lambda}(1+t)} \right)^{2} \middle| \left(\frac{1}{k!} \left(\log_{\lambda}(1+t) \right)^{k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=k}^{n} \binom{n}{l} S_{1,\lambda}(l,k) \left\langle \sum_{m=0}^{\infty} b_{m,\lambda}^{(2)} \frac{t^{m}}{m!} \middle| (x)_{n-l,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=k}^{n} \binom{n}{l} S_{1,\lambda}(l,k) b_{n-l,\lambda}^{(2)}. \end{split}$$

Conversely, let $B_{n,\lambda}(x) = \sum_{k=0}^{n} d_{n,k} b_{k,\lambda}(x)$. Then

$$\begin{split} d_{n,k} &= \frac{1}{k!} \left\langle \left| \frac{\frac{t}{e_{\lambda}(t)-1}}{\frac{e_{\lambda}(t)-1}{t}} \left(e_{\lambda}(t) - 1 \right)^{k} \right| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \left\langle \left(\frac{t}{e_{\lambda}(t)-1} \right)^{2} \right| \left(\frac{1}{k!} \left(e_{\lambda}(t) - 1 \right)^{k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=k}^{n} \binom{n}{l} S_{2,\lambda}(l,k) \left\langle \sum_{m=0}^{\infty} B_{m,\lambda}^{(2)} \frac{t^{m}}{m!} \right| (x)_{n-l,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=k}^{n} \binom{n}{l} S_{2,\lambda}(l,k) B_{n-l,\lambda}^{(2)}. \end{split}$$

Hence our proofs are completed.

Note that by (2.1), we get

$$\begin{split} \sum_{n=0}^{\infty} b_{n,\lambda}(x) \frac{t^n}{n!} &= \frac{t}{\log_{\lambda}(1+t)} e_{\lambda}^x \left(\log_{\lambda}(1+t)\right) \\ &= \left(\sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} \sum_{k=0}^n S_{1,\lambda}(n,k)(x)_{k,\lambda} \frac{t^n}{n!}\right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \sum_{k=0}^m \binom{n}{m} S_{1,\lambda}(m,k) b_{n-m,\lambda}(x)_{k,\lambda}\right) \frac{t^n}{n!}, \end{split}$$

and so we know that

$$b_{n,\lambda}(x) = \sum_{m=0}^{n} \sum_{k=0}^{m} \binom{n}{m} S_{1,\lambda}(m,k) b_{n-m,\lambda}(x)_{k,\lambda}.$$
 (2.4)

The higher order degenerate Daehee polynomials are defined by the generating function to be

$$\left(\frac{\log_{\lambda}(1+t)}{t}\right)^{r}(1+t)^{x} = \sum_{n=0}^{\infty} D_{n,\lambda}^{(r)}(x)\frac{t^{n}}{n!}, \text{ (see [16])}.$$

In the special case x=0, $D_{n,\lambda}^{(r)}=D_{n,\lambda}^{(r)}(0)$ are called the higher order degenerate Daehee numbers. When r=1, $D_{n,\lambda}^{(1)}(x)=D_{n,\lambda}(x)$ are called degenerate Daehee polynomials.

Note that

$$\frac{\log_{\lambda}(1+t)}{t} = \frac{1}{t} \sum_{n=1}^{\infty} \frac{(1)_{n,1/\lambda} \lambda^{n-1}}{n!} t^n = \sum_{n=0}^{\infty} \frac{(1)_{n+1,1/\lambda} \lambda^n}{(n+1)!} t^n.$$
 (2.5)

Theorem 2.3. For each nonnegative integer n, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \binom{n}{k} b_{n-k,\lambda}^{(2)} D_{k,\lambda}(x)$$

$$= \sum_{k=0}^{n} \left((k+1) \sum_{m=0}^{n} \sum_{l=0}^{m} \binom{n}{m} \frac{S_{1,\lambda}(m,l) S_{2,\lambda}(l+1,k+1) b_{n-m,\lambda}}{l+1} \right) D_{k,\lambda}(x).$$
(2.6)

As the inversion formula of (2.6), we have

$$D_{n,\lambda}(x) = \sum_{k=0}^{n} \binom{n}{k} D_{n-k,\lambda}^{(2)} b_{k,\lambda}(x).$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^n c_{n,k} D_{k,\lambda}(x)$. Since

$$D_{n,\lambda}(x) \sim \left(\frac{e_{\lambda}(t) - 1}{t}, e_{\lambda}(t) - 1\right)_{\lambda}$$

we have

$$\begin{split} c_{n,k} &= \frac{1}{k!} \left\langle \frac{\frac{t}{\log_{\lambda}(1+t)}}{\frac{\log_{\lambda}(1+t)}{t}} t^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{k!} \left\langle t^{k} \middle| \left(\left(\frac{t}{\log_{\lambda}(1+t)} \right)^{2} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{k!} \sum_{m=0}^{n} b_{m,\lambda}^{(2)} \frac{1}{m!} \left\langle t^{k} \middle| (t^{m})_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{k!} \sum_{m=0}^{n} b_{m,\lambda}^{(2)} \frac{1}{m!} \left\langle t^{k+m} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \binom{n}{k} b_{n-k,\lambda}^{(2)}. \end{split}$$

On the other hand, by (1.13) and (2.4), we get

$$c_{n,k} = \frac{1}{k!} \left\langle \frac{e_{\lambda}(t) - 1}{t} \left(e_{\lambda}(t) - 1 \right)^{k} \middle| b_{n,\lambda}(x) \right\rangle_{\lambda}$$

$$= \frac{1}{k!} \left\langle \frac{1}{t} \left(e_{\lambda}(t) - 1 \right)^{k+1} \middle| b_{n,\lambda}(x) \right\rangle_{\lambda}$$

$$= \frac{1}{k!} \sum_{m=0}^{n} \sum_{l=0}^{m} \binom{n}{m} S_{1,\lambda}(m,l) b_{n-m,\lambda} \left\langle \frac{1}{t} \left(e_{\lambda}(t) - 1 \right)^{k+1} \middle| (t)_{\lambda} \frac{1}{l+1}(x)_{l+1,\lambda} \right\rangle_{\lambda}$$

$$= (k+1) \sum_{m=0}^{n} \sum_{l=0}^{m} \binom{n}{m} S_{1,\lambda}(m,l) b_{n-m,\lambda} \frac{1}{l+1} \left\langle \frac{1}{(k+1)!} \left(e_{\lambda}(t) - 1 \right)^{k+1} \middle| (x)_{l+1,\lambda} \right\rangle_{\lambda}$$

$$= (k+1) \sum_{n=0}^{n} \sum_{l=0}^{m} \binom{n}{m} \frac{S_{1,\lambda}(m,l) S_{2,\lambda}(l+1,k+1) b_{n-m,\lambda}}{l+1}.$$

Conversely, we assume that $D_{n,\lambda}(x) = \sum_{k=0}^n d_{n,k} b_{k,\lambda}(x)$. Then, by (2.5), we get

$$d_{n,k} = \frac{1}{k!} \left\langle \left(\frac{\log_{\lambda} (1+t)}{t} \right)^{2} t^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda}$$
$$= \binom{n}{k} \left\langle \sum_{m=0}^{\infty} D_{m,\lambda}^{(2)} \frac{t^{m}}{m!} \middle| (x)_{n-k,\lambda} \right\rangle_{\lambda}$$
$$= \binom{n}{k} D_{n-k,\lambda}^{(2)},$$

and thus, our proofs are completed.

The unsigned Lah number L(n, k) counts the number of ways a set of n elements can be partitioned into k nonempty linearly ordered subsets and has the explicit formula

$$L(n,k) = \binom{n-1}{k-1} \frac{n!}{k!}, \text{ see ([9])}.$$
 (2.7)

By (2.7), we can derive the generating function of L(n,k) to be

$$\frac{1}{k!} \left(\frac{t}{1-t} \right)^k = \sum_{n=-k}^{\infty} L(n,k) \frac{t^n}{n!}, \ (k \ge 0), \ (\text{see [9]}).$$

Recently, Kim-Kim introduced the degenerate Lah-Bell polynomials as follows:

$$e_{\lambda}^{x}\left(\frac{t}{1-t}\right) = \sum_{n=0}^{\infty} B_{n,\lambda}^{L}(x) \frac{t^{n}}{n!}, \text{ (see [9])}.$$

In the special case, $x=1,\ B^L_{n,\lambda}=B^L_{n,\lambda}(1)$ are called the degenerate Lah-Bell numbers. From (2.8), we get

$$B_{n,\lambda}^{L}(x) = \sum_{m=0}^{n} L(n,m)(x)_{m,\lambda}.$$
 (2.9)

For each nonnegative integer k,

$$\left(\frac{t}{1+t}\right)^k = \sum_{l=0}^{\infty} \frac{(-1)^l < k >_l}{l!} t^{l+k},\tag{2.10}$$

where $\langle x \rangle_0 = 1$, $\langle x \rangle_l = x(x+1)(x+2)\cdots(x-(l-1))$, $(l \geq 1)$. By (2.11), we note that

$$\left(\frac{\log_{\lambda}(1+t)}{1+\log_{\lambda}(1+t)}\right)^{k}$$

$$= \sum_{l=0}^{\infty} \frac{(-1)^{l} < k >_{l}}{l!} \left(\log_{\lambda}(1+t)\right)^{l+k}$$

$$= \sum_{l=0}^{\infty} \frac{(-1)^{l} < k >_{l}}{l!} (l+k)! \frac{1}{(l+k)!} \left(\log_{\lambda}(1+t)\right)^{l+k}$$

$$= \sum_{l=0}^{\infty} \frac{(-1)^{l} < k >_{l}}{l!} (l+k)! \sum_{m=l+k}^{\infty} S_{1,\lambda}(m,l+k) \frac{t^{m}}{m!}$$

$$= \sum_{r=0}^{\infty} \sum_{l=0}^{r} \frac{(-1)^{l} < k >_{l}}{l!} (l+k)! S_{1,\lambda}(r+k,l+k) \frac{t^{r+k}}{(r+k)!}.$$

Theorem 2.4. For each nonnegative integer n, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\sum_{l=0}^{n-k} \sum_{m=l+k}^{n} \binom{n}{m} \binom{l+k}{l} (-1)^{l} < k >_{l} S_{1,\lambda}(m,l+k) b_{n-m,\lambda} \right) B_{k,\lambda}^{L}(x).$$
(2.12)

As the inversion formula of (2.12), we have

$$B_{n,\lambda}^{L}(x) = \sum_{k=0}^{n} \left(\sum_{m=0}^{n} \sum_{l=k}^{m} {m \choose l} L(n,m) S_{2,\lambda}(l,k) B_{m-l,\lambda} \right) b_{k,\lambda}(x).$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^n c_{n,k} B_{k,\lambda}^L(x)$. Since

$$B_{n,\lambda}^L(x) \sim \left(1, \frac{t}{1+t}\right)_{\lambda},$$

by (1.15) and (2.11), we get

$$\begin{split} c_{n,k} &= \frac{1}{k!} \left\langle \frac{1}{\log_{\lambda}(1+t)} \left(\frac{\log_{\lambda}(1+t)}{1 + \log_{\lambda}(1+t)} \right)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{k!} \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| \left(\left(\frac{\log_{\lambda}(1+t)}{1 + \log_{\lambda}(1+t)} \right)^{k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{k!} \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| \left(\sum_{l=0}^{\infty} \frac{(-1)^{l} < k >_{l}}{l!} \left(\log_{\lambda}(1+t) \right)^{l+k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=0}^{n-k} \frac{(-1)^{l} < k >_{l} (l+k)!}{l!k!} \left\langle \sum_{p=0}^{\infty} b_{p,\lambda} \frac{t^{p}}{p!} \middle| \left(\frac{1}{(l+k)!} \left(\log_{\lambda}(1+t) \right)^{l+k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=0}^{n-k} \sum_{m=l+k}^{n} \binom{n}{m} \binom{l+k}{l} (-1)^{l} < k >_{l} S_{1,\lambda}(m,l+k) \left\langle \sum_{p=0}^{\infty} b_{p,\lambda} \frac{t^{p}}{p!} \middle| (x)_{n-m,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=0}^{n-k} \sum_{m=l+k}^{n} \binom{n}{m} \binom{l+k}{l} (-1)^{l} < k >_{l} S_{1,\lambda}(m,l+k) b_{n-m,\lambda}. \end{split}$$

Conversely, we assume that $B_{n,\lambda}^L(x) = \sum_{k=0}^n d_{n,k} b_{k,\lambda}(x)$. Then, by (1.16), we get

$$d_{n,k} = \frac{1}{k!} \left\langle \frac{t}{e_{\lambda}(t) - 1} \left(e_{\lambda}(t) - 1 \right)^{k} \middle| B_{n,\lambda}^{L}(x) \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} L(n,m) \left\langle \frac{t}{e_{\lambda}(t) - 1} \middle| \left(\frac{1}{k!} \left(e_{\lambda}(t) - 1 \right)^{k} \right)_{\lambda} (x)_{m,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \sum_{l=k}^{m} \binom{m}{l} L(n,m) S_{2,\lambda}(l,k) \left\langle \sum_{a=0}^{\infty} B_{a,\lambda} \frac{t^{a}}{a!} \middle| (x)_{m-l,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \sum_{l=k}^{m} \binom{m}{l} S_{2,\lambda}(l,k) L(n,m) B_{m-l,\lambda},$$

and so our proofs are completed.

The degenerate Euler polynomials are defined by the generating function to be

$$\frac{2}{e_{\lambda}(t)+1}e_{\lambda}^{x}(t) = \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}(x)\frac{t^{n}}{n!}, \text{ (see [14])}.$$

When x = 0, $\mathcal{E}_{n,\lambda} = \mathcal{E}_{n,\lambda}(0)$ are called the degenerate Euler numbers.

Theorem 2.5. For each $n \ge 0$, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\frac{1}{2} \sum_{l=k}^{n} \binom{n}{l} \left(2b_{n-l,\lambda} + (n-l)b_{n-l-1,\lambda} \right) S_{1,\lambda}(l,k) \right) \mathcal{E}_{k,\lambda}(x). \quad (2.13)$$

As the inversion formula of (2.13), we have

$$\begin{split} \mathcal{E}_{n,\lambda}(x) &= \sum_{k=0}^n \left(\sum_{l=k}^n \sum_{a=0}^{n-l} \binom{n}{l} \binom{n-l}{a} S_{2,\lambda}(l,k) \mathcal{E}_{a,\lambda} B_{n-l-a,\lambda} \right) b_{k,\lambda}(x) \\ &= \sum_{k=0}^n \left(\sum_{m=0}^n \sum_{l=k}^m \binom{n}{m} \binom{m}{l} S_{2,\lambda}(l,k) \mathcal{E}_{n-m,\lambda} B_{m-l,\lambda} \right) b_{k,\lambda}(x). \end{split}$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^{n} c_{n,k} \mathcal{E}_{k,\lambda}(x)$. Since

$$\mathcal{E}_{n,\lambda} \sim \left(\frac{e_{\lambda}(t)+1}{2}, t\right)_{\lambda}$$

by (1.11) and (1.15), we get

$$\begin{split} c_{n,k} &= \frac{1}{k!} \left\langle \left. \frac{\frac{t+2}{2}}{\frac{\log_{\lambda}(1+t)}{t}} \left(\log_{\lambda}(1+t) \right)^{k} \right| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{2} \left\langle \left. \frac{t}{\log_{\lambda}(1+t)} (t+2) \right| \left(\frac{1}{k!} \left(\log_{\lambda}(1+t) \right)^{k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{2} \sum_{l=k}^{n} \binom{n}{l} S_{1,\lambda}(l,k) \left\langle \left. \frac{t}{\log_{\lambda}(1+t)} \right| (t+2)_{\lambda}(x)_{n-l,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{2} \sum_{l=k}^{n} \binom{n}{l} S_{1,\lambda}(l,k) \left\langle \left. \frac{t}{\log_{\lambda}(1+t)} \right| 2(x)_{n-l,\lambda} + (n-l)(x)_{n-l-1,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{2} \sum_{l=k}^{n} \left(2b_{n-l,\lambda} + (n-l)b_{n-l-1,\lambda} \right) \binom{n}{l} S_{1,\lambda}(l,k). \end{split}$$

Conversely, we assume that $\mathcal{E}_{n,\lambda}(x) = \sum_{k=0}^{n} d_{n,k} b_{k,\lambda}(x)$. Then

$$d_{n,k} = \frac{1}{k!} \left\langle \frac{\frac{t}{e_{\lambda}(t)-1}}{\frac{e_{\lambda}(t)+1}{2}} (e_{\lambda} - 1)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \left\langle \frac{2t}{(e_{\lambda}(t)-1)(e_{\lambda}(t)+1)} \middle| \left(\frac{1}{k!} (e_{\lambda}(t)-1)^{k}\right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{l=k}^{n} \binom{n}{l} S_{2,\lambda}(l,k) \left\langle \frac{t}{e_{\lambda}(t)-1} \middle| \left(\frac{2}{e_{\lambda}(t)+1}\right)_{\lambda} (x)_{n-l,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{l=k}^{n} \sum_{a=0}^{n-l} \binom{n}{l} \binom{n-l}{a} S_{2,\lambda}(l,k) \mathcal{E}_{a,\lambda} \left\langle \sum_{b=0}^{\infty} B_{b,\lambda} \frac{t^{b}}{b!} \middle| (x)_{n-l-a,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{l=k}^{n} \sum_{a=0}^{n-l} \binom{n}{l} \binom{n-l}{a} S_{2,\lambda}(l,k) \mathcal{E}_{a,\lambda} B_{n-l-a,\lambda}.$$

On the other hand,

$$d_{n,k} = \frac{1}{k!} \left\langle \frac{t}{e_{\lambda}(t) - 1} (e_{\lambda}(t) - 1)^{k} \middle| \mathcal{E}_{n,\lambda}(x) \right\rangle_{\lambda}$$

$$= \frac{1}{k!} \left\langle \frac{t}{e_{\lambda}(t) - 1} (e_{\lambda}(t) - 1)^{k} \middle| \sum_{m=0}^{n} \binom{n}{m} \mathcal{E}_{n-m,\lambda}(x)_{m,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \binom{n}{m} \mathcal{E}_{n-m,\lambda} \left\langle \frac{t}{e_{\lambda}(t) - 1} \middle| \left(\frac{1}{k!} (e_{\lambda}(t) - 1)^{k} \right)_{\lambda} (x)_{m,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \sum_{l=k}^{m} \binom{n}{m} \binom{m}{l} \mathcal{E}_{n-m,\lambda} S_{2,\lambda}(l,k) \left\langle \sum_{a=0}^{\infty} B_{a,\lambda} \frac{t^{a}}{a!} \middle| (x)_{m-l,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \sum_{l=k}^{m} \binom{n}{m} \binom{m}{l} \mathcal{E}_{n-m,\lambda} S_{2,\lambda}(l,k) B_{m-l,\lambda},$$

and so our proofs are completed.

The Changhee polynomials are defined by the generating function to be

$$\frac{2}{(1+t)+1}(1+t)^x = \frac{2}{e_{\lambda}(\log_{\lambda}(1+t))+1}e_{\lambda}^x(\log_{\lambda}(1+t)) = \sum_{n=0}^{\infty} Ch_n(x)\frac{t^n}{n!}, \text{ (see [5])}.$$

When x = 0, $Ch_n = Ch_n(0)$ are called the *Changhee numbers*.

Theorem 2.6. For each $n \ge 0$, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\frac{1}{2} \binom{n}{k+1} (k+1) b_{n-k-1,\lambda} + \binom{n}{k} b_{n-k,\lambda}\right) Ch_k(x). \tag{2.14}$$

As the inversion formula of (2.14), we have

$$Ch_{n}(x) = \sum_{k=0}^{n} \left(\sum_{l=0}^{n-k} \binom{n}{k} \binom{n-k}{l} Ch_{l} D_{n-k-l,\lambda} \right) b_{k,\lambda}(x)$$

$$= \sum_{k=0}^{n} \left(\sum_{l=0}^{n-k} \frac{(-1)^{l} l!}{2^{l}} \binom{n}{l+k} \binom{l+k}{l} D_{n-l-k,\lambda} \right) b_{k,\lambda}(x)$$

$$= \sum_{k=0}^{n} \left(\sum_{l=0}^{n} \sum_{a=0}^{l} \sum_{b=k}^{a} \binom{n}{l} \binom{a}{b} S_{1,\lambda}(l,a) S_{2,\lambda}(b,k) Ch_{n-l} B_{a-b,\lambda} \right) b_{k,\lambda}(x).$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^{n} c_{n,k} Ch_k(x)$. Note that

$$Ch_n(x) \sim \left(\frac{e_{\lambda}(t)+1}{2}, e_{\lambda}(t)-1\right)_{\lambda}$$

By (1.11) and (1.15), we get

$$\begin{split} c_{n,k} &= \frac{1}{k!} \left\langle \frac{\frac{t+2}{2}}{\frac{\log_{\lambda}(1+t)}{t}} t^k \middle| (x)_{n,k} \right\rangle_{\lambda} \\ &= \frac{1}{2k!} \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| \left(t^{k+1} + 2t^k \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{2} \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| \binom{n}{k+1} (k+1)(x)_{n-k-1,\lambda} \right\rangle_{\lambda} + \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| \binom{n}{k} (x)_{n-k,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{2} \binom{n}{k+1} (k+1) b_{n-k-1,\lambda} + \binom{n}{k} b_{n-k,\lambda}. \end{split}$$

Conversely, we assume that $Ch_n(x) = \sum_{k=0}^n d_{n,k} b_{k,\lambda}(x)$. Then

$$\begin{split} d_{n,k} &= \frac{1}{k!} \left\langle \frac{\frac{\log_{\lambda}(1+t)}{t}}{\frac{t+2}{2}} t^{k} \middle| (x)_{n,k} \right\rangle_{\lambda} \\ &= \frac{1}{k!} \left\langle \frac{\log_{\lambda}(1+t)}{t} \frac{2}{t+2} \middle| (t^{k})_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \binom{n}{k} \left\langle \frac{\log_{\lambda}(1+t)}{t} \middle| \left(\frac{2}{t+2}\right)_{\lambda} (x)_{n-k,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=0}^{n-k} \binom{n}{k} \binom{n-k}{l} Ch_{l} \left\langle \frac{\log_{\lambda}(1+t)}{t} \middle| (x)_{n-k-l,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=0}^{n-k} \binom{n}{k} \binom{n-k}{l} Ch_{l} D_{n-k-l,\lambda}. \end{split}$$

On the other hand, since

$$2t^{k}(t+2)^{-1} = 2t^{k} \sum_{l=0}^{\infty} {\binom{-1}{l}} 2^{-1-l} t^{l} = \sum_{l=0}^{\infty} \frac{(-1)^{l}}{2^{l}} t^{l+k}, \tag{2.15}$$

$$d_{n,k} = \frac{1}{k!} \left\langle \frac{\log_{\lambda}(1+t)}{t} \frac{2t^{k}}{t+2} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} = \frac{1}{k!} \left\langle \frac{\log_{\lambda}(1+t)}{t} \middle| \left(\frac{2t^{k}}{t+2}\right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \frac{1}{k!} \sum_{l=0}^{n-k} \frac{(-1)^{l}}{2^{l}} \left\langle \frac{\log_{\lambda}(1+t)}{t} \middle| (t^{l+k})_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \frac{1}{k!} \sum_{l=0}^{n-k} \frac{(-1)^{l}}{2^{l}} (n)_{l+k} \left\langle \frac{\log_{\lambda}(1+t)}{t} \middle| (x)_{n-l-k,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{l=0}^{n-k} \frac{(-1)^{l}}{2^{l}} \binom{n}{l+k} \binom{l+k}{l} l! D_{n-l-k,\lambda}.$$

In addition, since $Ch_n(x) = \sum_{l=0}^n \sum_{a=0}^l {n \choose l} Ch_{n-l} S_{1,\lambda}(l,a)(x)_{a,\lambda}$, by (1.16), we get

$$d_{n,k} = \frac{1}{k!} \left\langle \frac{t}{e_{\lambda}(t) - 1} \left(e_{\lambda}(t) - 1 \right)^k \middle| Ch_n(x) \right\rangle_{\lambda}$$

$$= \sum_{l=0}^n \sum_{a=0}^l \binom{n}{l} Ch_{n-l} S_{1,\lambda}(l,a) \left\langle \frac{t}{e_{\lambda}(t) - 1} \middle| \left(\frac{1}{k!} \left(e_{\lambda}(t) - 1 \right)^k \right)_{\lambda} (x)_{a,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{l=0}^n \sum_{a=0}^l \sum_{b=k}^a \binom{a}{b} \binom{n}{l} Ch_{n-l} S_{1,\lambda}(l,a) S_{2,\lambda}(b,k) \left\langle \frac{t}{e_{\lambda}(t) - 1} \middle| (x)_{a-b,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{l=0}^n \sum_{a=0}^l \sum_{b=k}^a \binom{n}{l} \binom{a}{b} Ch_{n-l} S_{1,\lambda}(l,a) S_2(b,k) B_{a-b,\lambda},$$

and hence our proofs are completed.

The Mittag-Leffler polynomials are defined by the generating function to be

$$\left(\frac{1+t}{1-t}\right)^x = e_{\lambda}^x \left(\log_{\lambda}\left(\frac{1+t}{1-t}\right)\right) = \sum_{k=0}^n M_k(x) \frac{t^n}{n!}, \text{ (see [7, 19])}.$$

Theorem 2.7. For each nonnegative integer n, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\sum_{l=0}^{n-k} \frac{(-1)^{l} < k >_{l}}{2^{k+l}} \binom{n}{l+k} \binom{l+k}{l} b_{n-l-k,\lambda} \right) M_{k}(x).$$
 (2.16)

As the inversion formula of (2.16), we have

$$M_n(x) = \sum_{k=0}^{n} \left(\sum_{m=0}^{n-k} {m+k \choose k} 2^{m+k} D_{m,\lambda} L(n, m+k) \right) b_{k,\lambda}(x).$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^n c_{n,k} M_k(x)$. Then, noting that

$$M_n(x) \sim \left(1, \frac{e_{\lambda}(t) - 1}{e_{\lambda}(t) + 1}\right)_{\lambda} \text{ and } \left(\frac{t}{t + 2}\right)^k = \sum_{l=0}^{\infty} \frac{(-1)^l < k >_l}{2^{k+l}} \frac{t^{l+k}}{l!},$$

we get

$$c_{n,k} = \frac{1}{k!} \left\langle \frac{1}{\log_{\lambda}(1+t)} \left(\frac{t}{t+2} \right)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \frac{1}{k!} \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| \left(\left(\frac{t}{t+2} \right)^{k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{l=0}^{n-k} \frac{(-1)^{l} < k >_{l}}{2^{l+k}} \binom{n}{l+k} \binom{l+k}{l} \left\langle \sum_{m=0}^{\infty} b_{m,\lambda} \frac{t^{m}}{m!} \middle| (x)_{n-l-k,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{l=0}^{n-k} \frac{(-1)^{l} < k >_{l}}{2^{l+k}} \binom{n}{l+k} \binom{l+k}{l} b_{n-l-k,\lambda}.$$

Conversely, we assume that $M_n(x) = \sum_{k=0}^n d_{n,k} b_{k,\lambda}(x)$. Then

$$d_{n,k} = \frac{1}{k!} \left\langle \frac{\log_{\lambda} \left(\frac{1+t}{1-t}\right)}{\frac{1+t}{1-t} - 1} \left(\frac{1+t}{1-t} - 1\right)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \left\langle \frac{1}{k!} \sum_{m=0}^{\infty} D_{m,\lambda} \frac{1}{m!} \left(\frac{2t}{1-t}\right)^{m+k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n-k} D_{m,\lambda} {m+k \choose k} 2^{m+k} \left\langle \frac{1}{(m+k)!} \left(\frac{t}{1-t}\right)^{m+k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n-k} {m+k \choose k} D_{m,\lambda} 2^{m+k} L(n,m+k),$$

and so our proofs are completed.

Note that

$$\frac{1}{k!} \left(\log_{\lambda} \left(1 + \log_{\lambda} (1+t) \right) \right)^{k} = \sum_{l=k}^{\infty} S_{1,\lambda}(l,k) \frac{1}{l!} \left(\log_{\lambda} (1+t) \right)^{l} \\
= \sum_{l=k}^{\infty} \sum_{m=l}^{\infty} S_{1,\lambda}(l,k) S_{1,\lambda}(m,l) \frac{t^{m}}{m!} \\
= \sum_{n=k}^{\infty} \sum_{l=0}^{n-k} S_{1,\lambda}(l+k,k) S_{1,\lambda}(n,l+k) \frac{t^{n}}{n!}, \tag{2.17}$$

and, similarly to (2.17), we have

$$\frac{1}{k!} \left(e_{\lambda} \left(e_{\lambda}(t) - 1 \right) - 1 \right)^{k} = \sum_{n=k}^{\infty} \sum_{l=0}^{n-k} S_{2,\lambda}(l+k,k) S_{2,\lambda}(n,l+k) \frac{t^{n}}{n!}.$$
 (2.18)

The degenerate Bell polynomials are defined by the generating function to be

$$e_{\lambda}^{x}(e_{\lambda}(t)-1) = \sum_{n=0}^{\infty} Bel_{n,\lambda}(x) \frac{t^{n}}{n!}, \text{ (see [12, 15])}.$$
 (2.19)

From (2.19)

$$Bel_{n,\lambda}(x) = \sum_{m=0}^{n} (x)_{m,\lambda} S_{2,\lambda}(n,m), \text{ (see [12, 15])}.$$
 (2.20)

Theorem 2.8. For each nonnegative integer n, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\sum_{a=k}^{n} \sum_{l=0}^{a-k} \binom{n}{a} S_{1,\lambda}(l+k,k) S_{1,\lambda}(a,l+k) b_{n-a,\lambda} \right) Bel_{k,\lambda}(x)$$

$$= \sum_{k=0}^{n} \left(\sum_{m=k}^{n} \sum_{l=k}^{m} \binom{n}{m} S_{1,\lambda}(m,l) S_{1,\lambda}(l,k) b_{n-m,\lambda} \right) Bel_{k,\lambda}(x).$$
(2.21)

As the inversion formula of (2.21), we have

$$Bel_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\sum_{a=k}^{n} \sum_{l=0}^{a-k} \sum_{m=0}^{n-a} \binom{n}{a} S_{2,\lambda}(l+k,k) S_{2,\lambda}(a,l+k) S_{2,\lambda}(n-a,m) B_{m,\lambda} \right) b_{k,\lambda}(x)$$
$$= \sum_{k=0}^{n} \left(\sum_{m=0}^{n} \sum_{l=k}^{m} \binom{m}{l} S_{2,\lambda}(n,m) S_{2,\lambda}(l,k) B_{m-l,\lambda} \right) b_{k,\lambda}(x).$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^{n} c_{n,k} Bel_{k,\lambda}(x)$. Since

$$b_{n,\lambda}(x) \sim \left(\frac{t}{e_{\lambda}(t)-1}, e_{\lambda}(t)-1\right)_{\lambda} \text{ and } Bel_{n,\lambda}(x) \sim (1, \log_{\lambda}(1+t))_{\lambda},$$

by (1.15) and (2.17), we get

$$\begin{split} c_{n,k} &= \frac{1}{k!} \left\langle \frac{1}{\frac{\log_{\lambda}(1+t)}{t}} \left(\log_{\lambda} \left(1 + \log_{\lambda}(1+t) \right) \right)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| \left(\frac{1}{k!} \left(\log_{\lambda} \left(1 + \log_{\lambda}(1+t) \right) \right)^{k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \sum_{a=k}^{n} \sum_{l=k}^{a-k} S_{1,\lambda}(l+k,k) S_{1,\lambda}(a,l+k) \binom{n}{a} \left\langle \frac{t}{\log_{\lambda}(1+t)} \middle| (x)_{n-a,\lambda} \right\rangle_{\lambda} \\ &= \sum_{a=k}^{n} \sum_{l=k}^{a-k} \binom{n}{a} S_{1,\lambda}(l+k,k) S_{1,\lambda}(a,l+k) b_{n-a,\lambda}. \end{split}$$

On the other hand, by (1.16) and (2.4), we have

$$c_{n,k} = \frac{1}{k!} \left\langle \left(\log_{\lambda} (1+t) \right)^{k} \middle| b_{n,\lambda}(x) \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \sum_{l=0}^{m} \binom{n}{m} S_{1,\lambda}(m,l) b_{n-m,\lambda} \left\langle \frac{1}{k!} \left(\log_{\lambda} (1+t) \right)^{k} \middle| (x)_{l,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=k}^{n} \sum_{l=k}^{m} \binom{n}{m} S_{1,\lambda}(m,l) S_{1,\lambda}(l,k) b_{n-m,\lambda}.$$

Conversely, we assume that $Bel_{n,\lambda}(x) = \sum_{k=0}^n d_{n,k} b_{k,\lambda}(x)$. Then, by (2.18), we get

$$\begin{split} d_{n,k} &= \frac{1}{k!} \left\langle \frac{e_{\lambda}(t) - 1}{e_{\lambda}(e_{\lambda}(t) - 1) - 1} \left(e_{\lambda}(e_{\lambda}(t) - 1) - 1 \right)^{k} \middle| (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \left\langle \frac{e_{\lambda}(t) - 1}{e_{\lambda}\left(e_{\lambda}(t) - 1\right) - 1} \middle| \left(\frac{1}{k!} \left(e_{\lambda}\left(e_{\lambda}(t) - 1\right) - 1 \right)^{k} \right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \sum_{a=k}^{n} \sum_{l=0}^{a-k} S_{2,\lambda}(l+k,k) S_{2,\lambda}(a,l+k) \binom{n}{a} \left\langle \frac{e_{\lambda}(t) - 1}{e_{\lambda}\left(e_{\lambda}(t) - 1\right) - 1} \middle| (x)_{n-a,\lambda} \right\rangle_{\lambda} \\ &= \sum_{a=k}^{n} \sum_{l=0}^{a-k} S_{2,\lambda}(l+k,k) S_{2,\lambda}(a,l+k) \binom{n}{a} \\ &\times \left\langle \sum_{m=0}^{\infty} B_{m,\lambda} \frac{1}{m!} \left(e_{\lambda}(t) - 1 \right)^{m} \middle| (x)_{n-a,\lambda} \right\rangle_{\lambda} \\ &= \sum_{a=k}^{n} \sum_{l=0}^{a-k} S_{2,\lambda}(l+k,k) S_{2,\lambda}(a,l+k) \binom{n}{a} \sum_{b=0}^{\infty} \sum_{m=0}^{b} B_{m,\lambda} S_{2,\lambda}(b,m) \frac{1}{b!} \left\langle t^{b} \middle| (x)_{n-a,\lambda} \right\rangle_{\lambda} \\ &= \sum_{a=k}^{n} \sum_{l=0}^{a-k} \sum_{m=0}^{n-a} \binom{n}{a} S_{2,\lambda}(l+k,k) S_{2,\lambda}(a,l+k) S_{2,\lambda}(a,l+k) S_{2,\lambda}(n-a,m) B_{m,\lambda}. \end{split}$$

On the other hand, by (1.16), (2.8) and (2.20), we have

$$d_{n,k} = \frac{1}{k!} \left\langle \frac{t}{e_{\lambda}(t) - 1} \left(e_{\lambda}(t) - 1 \right)^{k} \middle| Bel_{n,\lambda}(x) \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} S_{2,\lambda}(n,m) \left\langle \frac{t}{e_{\lambda}(t) - 1} \middle| \left(\frac{1}{k!} \left(e_{\lambda}(t) - 1 \right)^{k} \right)_{\lambda}(x)_{m,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \sum_{l=k}^{m} S_{2,\lambda}(n,m) S_{2,\lambda}(l,k) \binom{m}{l} \left\langle \frac{t}{e_{\lambda}(t) - 1} \middle| (x)_{m-l,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \sum_{l=k}^{m} S_{2,\lambda}(n,m) S_{2,\lambda}(l,k) \binom{m}{l} \left\langle \sum_{a=0}^{\infty} B_{a,\lambda} \frac{t^{a}}{a!} \middle| (x)_{m-l,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=0}^{n} \sum_{l=k}^{m} \binom{m}{l} S_{2,\lambda}(n,m) S_{2,\lambda}(l,k) B_{m-l,\lambda},$$

and thus our proofs are completed.

In [10], Kim-Kim defined the degenerate Frobenius-Euler polynomils of order r by the generating function to be

$$\left(\frac{1-u}{e_{\lambda}(t)-u}\right)^{r}e_{\lambda}^{x}(t) = \sum_{n=0}^{\infty} h_{n,\lambda}^{(r)}(x|u)\frac{t^{n}}{n!}, \ (u \neq 1, \ u \in \mathbb{C}), \ (n \geq 0).$$

In the special case x=0, $h_{n,\lambda}^{(r)}(u)=h_{n,\lambda}^{(r)}(0|u)$ are called the degenerate Frobenius-Euler numbers of order r.

Theorem 2.9. For each nonnegative integer n, we have

$$b_{n,\lambda}(x) = \sum_{k=0}^{n} \left(\sum_{l=k}^{n} \sum_{m=0}^{r} \binom{n}{l} \binom{r}{m} \frac{(n-l)_m}{(1-u)^m} S_{1,\lambda}(l,k) b_{n-l-m,\lambda} \right) h_{k,\lambda}^{(r)}(x). \tag{2.22}$$

As the inversion formula of (2.22), we have

$$h_{n,\lambda}^{(r)}(x) = \sum_{k=0}^{n} \left(\sum_{m=k}^{n} \sum_{l=0}^{m} {n \choose m} {m \choose l} S_{2,\lambda}(m-l,k) h_{n-m,\lambda}^{(r)}(u) B_{l,\lambda} \right) b_{k,\lambda}(x).$$

Proof. Let $b_{n,\lambda}(x) = \sum_{k=0}^n c_{n,k} h_{k,\lambda}^{(r)}(x|u)$. Since

$$b_{n,\lambda}(x) \sim \left(\frac{t}{e_{\lambda}(t)-1}, e_{\lambda}(t)-1\right)_{\lambda} \text{ and } h_{n,\lambda}^{(r)}(x|u) \sim \left(\left(\frac{e_{\lambda}(t)-u}{1-u}\right)^{r}, t\right)_{\lambda}$$

by (1.12) and (1.15), we get

$$\begin{split} c_{n,k} &= \frac{1}{k!} \left(\frac{\left(\frac{(1+t)-u}{1-u}\right)^r}{\frac{\log_\lambda(1+t)}{t}} \left(\log_\lambda(1+t)\right)^k \middle| (x)_{n,\lambda} \right)_{\lambda} \\ &= \frac{1}{(1-u)^r} \left\langle \frac{t}{\log_\lambda(1+t)} \left((1+t)-u\right)^r \middle| \left(\frac{1}{k!} \left(\log_\lambda(1+t)\right)^k\right)_{\lambda} (x)_{n,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{(1-u)^r} \sum_{l=k}^n S_{1,\lambda}(l,k) \binom{n}{l} \left\langle \frac{t}{\log_\lambda(1+t)} \middle| \left((t+(1-u))^r\right)_{\lambda} (x)_{n-l,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{(1-u)^r} \sum_{l=k}^n S_{1,\lambda}(l,k) \binom{n}{l} \left\langle \frac{t}{\log_\lambda(1+t)} \middle| \left(\sum_{m=0}^r \binom{r}{m} (1-u)^{r-m} t^m\right)_{\lambda} (x)_{n-l,\lambda} \right\rangle_{\lambda} \\ &= \frac{1}{(1-u)^r} \sum_{l=k}^n \sum_{m=0}^r \binom{n}{l} \binom{r}{m} S_{1,\lambda}(l,k) (1-u)^{r-m} (n-l)_m \left\langle \frac{t}{\log_\lambda(1+t)} \middle| (x)_{n-l-m,\lambda} \right\rangle_{\lambda} \\ &= \sum_{l=k}^n \sum_{m=0}^r \binom{n}{l} \binom{r}{m} \frac{(n-l)_m}{(1-u)^m} S_{1,\lambda}(l,k) b_{n-l-m,\lambda}. \end{split}$$

Conversely, we assume that $h_{n,\lambda}^{(r)}(x|u) = \sum_{k=0}^{n} d_{n,k} b_{k,\lambda}(x)$. Then, by (1.15) and (1.16), we have

$$d_{n,k} = \frac{1}{k!} \left\langle \frac{t}{e_{\lambda}(t) - 1} \left(e_{\lambda}(t) - 1 \right)^{k} \middle| h_{n,\lambda}^{(r)}(x|u) \right\rangle_{\lambda}$$

$$= \frac{1}{k!} \left\langle \frac{t}{e_{\lambda}(t) - 1} \left(e_{\lambda}(t) - 1 \right)^{k} \middle| \sum_{m=0}^{n} \binom{n}{m} h_{n-m,\lambda}^{(r)}(u)(x)_{m,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=k}^{n} \binom{n}{m} h_{n-m,\lambda}^{(r)}(u) \left\langle \frac{1}{k!} \left(e_{\lambda}(t) - 1 \right)^{k} \middle| \left(\frac{t}{e_{\lambda}(t) - 1} \right)_{\lambda}(x)_{m,\lambda} \right\rangle_{\lambda}$$

$$= \sum_{m=k}^{n} \sum_{l=0}^{m} \binom{n}{m} \binom{m}{l} S_{2,\lambda}(m-l,k) h_{n-m,\lambda}^{(r)}(u) B_{l,\lambda}.$$

3. Conclusion

In this paper, we represented the degenerate Bernoulli polynomials of the second kind in terms of various special polynomials and derived the inversion formulas of those identities by using the λ - Sheffer sequences. We addressed the well-known special polynomials and numbers: the degenerate falling factorial, the

degenerate Bernoulli polynomials, degenerate Daehee polynomials, the degenerate Lah-Bell polynomials, degenerate Euler polynomials, the Changhee polynomials, the Mittag-Leffer polynomials, the degenerate Bell polynomials, the degenerate Frobenius-Euler polynomials of order r. It is one of our future projects to continue to investigate the degenerate special numbers and polynomials by using the λ -umbral calculus.

4. Acknowledgments

The authors would like to thank the referees for many valuable and detailed comments.

The authors would like to thank Jangjeon Research Institute for Mathematical Sciences for the support of this research.

Dedicated to Professor Lee-Chae Jang on the occasion of his retirement.

5. Funding

This research was supported by Daegu University, 2021.

6. Competing interests

The authors declare that they have no competing interests.

7. Authors' contributions

JWP and JK conceived of the framework and structured the whole manuscript; JWP wrote the paper; JK and BMK checked the results of the manuscript. All authors read and approved the final paper.

References

- L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Utilitas Math. 15 (1979), 51-88.
- [2] R. Dere and Y. Simsek, Applications of umbral algebra to some special polynomials, Adv. Stud. Contemp. Math. (Kyungshang) 22 (2012), no. 3, 433-438.
- [3] D. V. Dolgy, D. S. Kim and T. Kim, Korobov polynomials of the first kind, Mat. Sb. 208 (2017), no. 1, 65-79.
- [4] T. Kim, L.-C. Jang, D. S. Kim and H. Y. Kim, Some identities on type 2 degenerate Bernoulli polynomials of the second kind, Symmetry, 2020, 12, 510.
- [5] B. M. Kim, J. Jeong and S. H. Rim, Some explicit identities on Changhee-Genocchi polynomials and numbers, Advances in Diff. Equ. (2016), 2016:202.
- [6] D. S. Kim and T. Kim, A note on a new type of degenerate Bernoulli numbers, Russ. J. Math. Phys. 27 (2020), no. 2, 227-235.
- [7] D. S. Kim and T. Kim, Degenerate Sheffer sequences and λ-Sheffer sequences, J. Math. Anal. Appl., 493 (2021), 124521.
- [8] T. Kim, A Note on Degenerate Stirling Polynomials of the Second Kind, Proc. Jangjeon Math. Soc. 20 (2017), no. 3, 319–331.
- [9] H. K. Kim, Degenerate Lah-Bell polynomials arising from degenerate sheffer sequences, Advances in Diff. Equ. (2020), 2020:687.
- [10] T. Kim and D. S. Kim, An identity of symmetry for the degenerate Frobenius-Euler polynomials, Mat. Sb. 68 (2018), no. 1, 239–243.
- [11] T. Kim and D. S. Kim, Identities for degenerate Bernoulli polynomials and Korobov polynomials of the first kind, Sci. China Math. 62(5), (2019), 999-1028.
- [12] T. Kim, and D. S. Kim, Degenerate polyexponential functions and degenerate Bell polynomials, J. Math. Anal. Appl. 487 (2020), no. 2, 124017, 15 pp.
- [13] T. Kim, D. S. Kim, H. Y. Kim and L. C. Jang, Degenerate Bell polynomials associated with umbral calculus Journal of Ineq. and Appl., 2020 2020:226.

- [14] W. J. Kim, D. S. Kim, H. Y. Kim and T. Kim, Some identities of degenerate Euler polynomials associated with degenerate Bernstein polynomials, Journal of Ineq. and Appl., 2019 2019:160.
- [15] T. Kim, D. S. Kim, H. Y. Kim and J. Kwon, Some identities of degenerate Bell polynomials, Mathematics, 8, 40, (2020), 8 pp.
- [16] T. Kim, D. S. Kim, H. Y. Kim and J. Kwon, Some results on degenerate Daehee and Bernoulli numbers and polynomials, Advances in Diff. Equ. (2020), 2020:311.
- [17] N. M. Korobov, On some properties of special polynomials, Proceedings of the IV International Conference "Modern Problems of Number Theory and its Applications" (in Russian) (Tula, 2001), Chebyshevski Sb., 1 (2001), 40–49.
- [18] G. D. Liu, Degenerate Bernoulli numbers and polynomials of higher order, (Chinese), J. Math.(Wuhan), 25 (2005), no. 3, 283-288.
- [19] S. Roman, The umbral calculus, Pure and Applied Mathematics, 111. Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984.
- [20] G. C. Rota and B. D. Taylor, The classical umbral calculus, SIAM J. Math. Anal. 25 (1994), no. 2, 694-711.
- [21] Y. Simsek, Special numbers and polynomials including their generating functions in umbral analysis methods, Axioms 2018, 7, 22.
- 1 Department of Mathematics Education, Daegu University, Gyeongsan-si, 38453, Republic of Korea.

Email address: a0417001@knu.ac.kr

 2 Department of Mechanical System Engineering, Dongguk University, 123 Dongdaero, Gyungju-si, Gyeongsangbuk-do, 38066, Republic of Korea.

Email address: kbm713@dongguk.ac.kr

 3 Department of Mathematics Educations, Gyeongs ang National University , JinJu, 52828, Republic of Korea.

Email address: mathkjk26@gnu.ac.kr